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Task 2. Lunchroom Tiles Task

Raymond, Sasha, and Tonya are discussing the tile pattern on the back wall of their lunchroom,
as shown below.

Raymond says, “I looked at the first row going across. There are 8 tiles altogether and 4 of them

are gray. So 4 out of 8 tiles in the whole pattern must be gray, and that is equal to a ratio of %

Sasha says, “There are 5 tiles in each column going up and down and in each column there are

3 gray tiles. So the ratio of gray tiles to total tiles in the pattern must be %

Tonya says, “I looked at 2 columns together and counted 10 tiles. | determined that 60% of them
are gray.”

Evaluate each student’s argument and use ratios to explain why you agree or disagree with
each student.
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2. Lunch Room Tiles Task Scoring Guide

The CCSS for Mathematical Content (2 points)

6.RP.A.3

6.RP.A.3c

Demonstrates that the ratio of gray tiles to total number of tiles is % not l in

2

any of the following ways:

. 24 12 6 3
= scaling,e.g., —=—=—=—.
40 20 10 5
: : . : 24 1
e using a proportion or proportional reasoning (e.g.,mii).
e scaling up or down using a table.
e using a tape diagram, e.g.,
(1 [ i Gray
24
[ [ [ [ i Total
40
(1 Point)
Demonstrates recognition that percent means “out of 100” in any of the following
ways:
e scaling in fraction form, e.g., E or i to ﬂ and observing ﬂ is
5 10 100 100
equal to 60%.
e observing that 60% = ﬂand scaling that down to E i or ﬁ
100 5 10 40

e reasoning visually from the figure; e.g., the figure has 40 tiles, so iterating
the figure 2.5 times will yield 100 tiles. Since 24 of the tiles in the figure
are gray, multiplying 24 times 2.5 will give the number of gray tiles out of
100. 60 out of 100 tiles will be gray, so 60% of the tiles are gray.

e dividing, e.g., 3+5:0.6:ﬂ:60% OR 24+40:0.6:ﬂ:60%.
100 100

3 ? 60
setting up and solving a proportion, e.g., —=——, —, 60%.
* gup g aprop 9 57700" 100" "

e equating in any way % or % to 60%.

(1 Point)

Total Content Points
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The CCSS for Mathematical Practice (2 points)

MP3

MP7

Cites evidence coherently and uses consistent calculations to support agreement or
disagreement with Sasha, Tonya, and Raymond.

(1 Point)

(MP3: Construct viable arguments and critique the reasoning of others.)

Indicates with equations, ratios, or arguments that a multiplicative relationship exists
when a pattern is repeated.

(1 Point)

(MP7: Look for and make use of structure.)

Total Practice Points

Total Awarded Points
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The CCSS for Mathematical Content Addressed in This Task

Understand ratio concepts and use ratio reasoning to solve problems.

6.RP.A.3 Use ratio and rate reasoning to solve real-world and mathematical problems, e.g., by
reasoning about tables of equivalent ratios, tape diagrams, double number line diagrams,
or equations.

6.RP.A.3c Find a percent of a quantity as a rate per 100 (e.g., 30% of a quantity means 30/100 times
the quantity); solve problems involving finding the whole, given a part and the percent.

The CCSS for Mathematical Practice*

3. Construct viable arguments and critique the reasoning of others.

7. Look for and make use of structure.

*Gray text indicates Mathematical Practices that are not addressed in this task.

Students’ responses to a mathematical task provide evidence of what they understand and are able to
do in relation to the standards and practices. Across tasks, this cumulative evidence shows students’
understanding and abilities within a domain. When students do not respond completely to all parts of a
task, they provide insufficient evidence of their mathematical understanding and abilities and therefore
do not fully demonstrate the expectations of the standards and practices aligned with that task.
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fRaymond Sasha and Tonya are dlscussmg the tlle pattern on the back waII of their Iunchroom
as shown be[ow o

: Task 2, Lunchroom Tlles Task
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Raymond says, “I looked at the first row gomg across There are 8 tiles a[together and 4 of them
are gray. So4 out of 8 tiles in the whole pattern must be gray, and that is equal to a ratio of % -

Sasha says, -_“_There are 5 tites in each cotumn going up and down and-in'each' column there are
'3 gray tiI_es; So the ratio of g’ray tiles to_to_tai_-'tiles in the pattern must be % ' E

Tonya says' "I iooked at 2 columns together and counted 10 tiles. | determined that 60% of them
are gray.”. - '

Evaluate each student s argument and use ratlos to explaln why you agree or dlsagree with
each student e
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Page 5 of 24



Guide 1 Litho 646888
Total Content Points: 2 (6.RP.A.3, 6.RP.A.3¢)

Total Practice Points: 2 (MP3, MP7)

. : .. 3 .
The student demonstrates that the ratio of gray tiles to total tiles is 3 by stating that “total there

are 24 out of 40 gray tiles. Also, if you divide 24 by 8, and 40 by 8, you get the ratio 3 to 5”
(6.RP.A.3). This reasoning also recognizes that a multiplicative relationship exists when a
pattern is repeated (MP7). The student correctly verifies the percentage stated by Tonya (“6 out
of 10 of them are gray . . . multiply 10 by 10 and 6 by 10 you get the ratio 60 to 100. And, 60 out
of 100 equals 60%”) (6.RP.A.3c). Overall, the student coherently cites evidence to agree with
Sasha and Tonya and disagree with Raymond (MP3).

Total Awarded Points: 4 out of 4
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Raymond, Sasha, and Tonya are discussing the tile pattern on the back wall of their lunchroom,
-as shown below. : - : - .

Task 2. Lunchroom T:les Task
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Raymond says, ‘I looked at the first row going across. There are 8 tiles altogether and 4 of them
are gr_ay. So 4 out of 8 tiles in the whole pattern must be gray, and.that is equal to a ratio of %

Sasha says, “There are 5 tiles in each column going up and down and in each column there are
3 gray tiles. So the ratio of gray tiles to total tiles in the pattern must be %

Tonya says, “| looked at_2 columns together and counted 10 tiles. | determined that 60% of them

aregray.” - - . i ST v T

Evaluate each student's argument and use ratios to*eifplain why you agree or disagree with
“each student. ' E o
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Guide 2 Litho 685354
Total Content Points: 2 (6 RP.A.3, 6.RP.A.3¢)

Total Practice Points: 2 (MP3, MP7)

. : 4.3
The student demonstrates that the ratio of gray tiles to total tiles is 3 (the comment for Sasha

that “3 tiles for every 17 is disregarded and read as a minor error in expression, rather than an
error in mathematical understanding since the student correctly shows that “24 grey tiles : 40 is

g) (6.RP.A.3). This work also indicates that a multiplicative relationship exists when a pattern is

repeated (MP7). The student correctly verifies for the percentage stated by Tonya (“6 out of
10 ... it would be 60%”; “6:10 — 60%”) (6.RP.A.3c). Overall, the student coherently cites
evidence to agree with Sasha and Tonya and disagree with Raymond (MP3).

Total Awarded Points: 4 out of 4
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A-3a

‘Raymond, Sasha, and Tonya are drscussrng the tile pattern on the back wall of. thelr Iunchroom
as shown below. . o T O

Task2 Lunchroom Tiles Task '
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Raymond says, "I [ooked at the first row going across. There are. 8 tlles altogether and 4 of them
are gray. So 4 out of 8 tiles in the whole pattern must be- gray, and that is equalto a ratio of %

Sasha says, “There are 5 tiles in each column going up and c_ioWn and in each column there are
3 gray tiles_. So the__ ratio_ of _gray tiies to total tiles in the patte_rn must be ' %

‘Tonya says "I Iooked at 2 columns together and counted 10 tr[es I determ:ned that 60% of them
are gray.” S

Evaluate each students argument and use ratlos to explain why you agree or drsagree with
each student. -

Litho#: 696741
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Guide 3 Litho 696741
Total Content Points: 2 (6.RP.A.3, 6.RP.A.3¢)

Total Practice Points: 1 (MP7)

The student demonstrates that the ratio of gray tiles to total tiles is 3 (2 = 3 and o = 3

5140 5 10 5
(6.RP.A.3). This work also indicates that a multiplicative relationship exists when a pattern is
repeated (MP7). The student correctly verifies the percentage stated by Tonya

(% =0.60 = 60%) (6.RP.A.3c). Although the work shown does demonstrate an understanding

of how to reduce and convert ratios as fractions, the lack of labeling or written explanations
means that the student has not coherently cited evidence or used the work to agree or disagree
with Sasha, Tonya, and Raymond (no credit for MP3).

Total Awarded Points: 3 out of 4
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Task 2. Lunchroom Tiles Task

A-4a

'Raymond, Sasha, and'Tonya are discussing the tile pattern on the back wall of their lunchroom,

as shown below.

L

Raymond says, "I looked at the first row going across. There are 8 tiles altogether and 4 of them

are gray So 4 out of 8 tiles in the whole pattern must be gray, and that is’ equal fo a ratio of :12

Sasha says, “There are 5 tiles in each column'going' 'up a‘h_d_.'do_wn and in each column there are

3 gray tiles. So the ratio of gray tiles to total tiles in the pattem must be %.”

Tonya says “l looked at 2 columns together and counted 10 ttles I determined that 60% of them

are gray.”

Evaluate each student’s argument and use ratios to explain why you agree or disagree with

each student.
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Litho#: 648216
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Guide 4 Litho 648216
Total Content Points: 2 (6.RP.A.3, 6.RP.A.3¢)

Total Practice Points: 1 (MP7)

The student demonstrates that the ratio of gray tiles to total tiles is 3 [gay 24 = 3 or 60%
5 \total 40 5

(6.RP.A.3). This work also indicates that a multiplicative relationship exists when a pattern is
repeated (MP7). The work shown verifies the percentage stated by Tonya (6.RP.A.3c). Although
the student supports disagreement with Raymond, there is no argument formulated for Sasha or
Tonya (no credit for MP3).

Total Awarded Points: 3 out of 4
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- A-da

Raymond Sasha and Tonya are dlscussmg the tlle pattern on the back wall of thelr !unchroom A
as shown below = ‘ N o

Task 2. Lunchroom Tlles Task
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N Raymond says g tooked at the f rst row gorng across There are 8 tules a[together and 4 of them
are gray So 4 out of 8 tlles |n the whole pattern must be gray, and that is equal to a ratlo of ;Iz

: Sasha says "There are 5 tiles in each column gomg up: and down and in each column there are
5 3 gray tlles So the ratlo of gray tlles to totai tsles in the pattern must be g

- Tonya Says T Iooked at 2- columns together and counted 10 tlles ] determlned that 60% of them
are gray." L - . : _

Evaluate each students argument and use rat[os to exp!aln why you agree or dlsagree W|th '
each student S S
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Guide 5 Litho 656117
Total Content Points: 1 (6.RP.A.3¢)

Total Practice Points: 1 (MP3)

: : 4 .3 .
The student does not demonstrate that the ratio of gray tiles to total tiles is 3 (no credit

for 6.RP.A.3). The student does not indicate that a multiplicative relationship exists when a
pattern is repeated (no credit for MP7). The student verifies the percentage stated by Tonya
(“because out of the 10 tiles, 6 are gray. 10 goes into 100 ten times so each column = 10% so

6 columns = 60%") (6.RP.A.3c). Overall, the student coherently cites evidence using the
information from the task to support agreement with Sasha (“in each row up and down, there is 3
gray and 2 white or 3:2”") and Tonya and also to support disagreement with Raymond (“1 whole
row of gray tiles while the rest have 4 gray and 8 white”) (MP3).

Total Awarded Points: 2 out of 4
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A-6a

Raymond, Sasha and Tonya are dISCUSS]ng the t[le pattern on the back wall of their lunchroom,
as shown below. -

Task 2. Lunchroom Tile’s'Task

RN | 0

Raymond says, “I looked at th_e'_-ﬁr's't.row going across. There are 8 tiles aitogether and 4 of them

are gray. So 4 out of 8 tiles in the w'ho'le pattern must be gray, and that is equal to a ratio of %

Sasha says, “There are 5 tiles in each colurrin going up and down and in each column there are -
3 gray tiles. So the ratio of gray' tiles _to tetal_ ti!e_s in the pattern must be %

Tonya says “I looked at 2 columns together and counted 10 tiles. | determlned that 60% of them
s gray o . _ .

- Evaluate each student's argument and use ratios to explain Why you adree'br disagree with
each student '
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Litho#: 693513
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Guide 6 Litho 693513
Total Content Points: 1 (6.RP.A.3)

Total Practice Points: 1 (MP7)

. . Q.3 . 24 )
The student demonstrates that the ratio of gray tiles to total tiles is 3 : “simplify 20 you will get

%” (6.RP.A.3). The explanation also indicates that a multiplicative relationship exists when a

pattern is repeated (MP7). The student does not verify the percentage stated by Tonya (no credit
for 6.RP.A.3c). Although the student supports agreement with Sasha, no arguments are
formulated for Tonya or Raymond (no credit for MP3).

Total Awarded Points: 2 out of 4
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Task 2. Lunchro_om Tiles Task 7

A-Ta

Raymond, Sasha, and Tonya are discussing the tile pattern on the back wall of their Iunchroom

as shown below.

H |m

N _m |m |m
|
MR RCORCEC
CRCONCED

Raymond says, “I looked at the first row going across. There are 8 tiles altogether and 4 of them

are gray. So 4 out of 8 tiles in the whole pattern must be gray, and that is equal to a ratio of %

* Sasha says, “There are 5 tiles in each column going up and down and in each column there are

3 gray tiles. So the ratio of gray tflés to total tiles in the pattern must be %

Tonya says “I looked at 2 columns together and counted 10 tiles. | determlned that 60% of them

are gray

' Eva!uate each student's argument and use ratios to explain why you agree or dlsagree with

each student.
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Litho#: 662775
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Guide 7 Litho 662775
Total Content Points: 1 (6.RP.A.3¢)

Total Practice Points: 0

: : .. 3 :
The student does not demonstrate that the ratio of gray tiles to total tiles is 3 (no credit

for 6.RP.A.3). The student does not show that a multiplicative relationship exists when a pattern
is repeated (no credit for MP7). The student correctly finds the percentage of gray tiles (6 = 60%,
with a diagram showing 6 gray tiles out of 10 total tiles) (6.RP.A.3c). The student does not
coherently cite evidence or use the work completed to agree or disagree with Sasha or Raymond,
although the work appears to indicate agreement with Tonya (no credit for MP3).

Total Points Awarded: 1 out of 4
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“A-8a

" 'Réymond,-Sasha, and Tonya aré discussing the tile pattern on the back wall of their lunchroom,

* Task 2. Lunchroom Tiles Task

as shown below. .

i E -,-t w

Raymond says, “I looked at the first row going across. There are 8 tiles altogether and 4 of them
~ are gray. So 4 out of 8 tiles in the whole pattern must be gray, and that is equal to a ratio of %

Sasha says, “There are 5 tiles in each column going up and down and in each column there are

3 gray tiles. So the ratio of gray tiles to total tiles in the patiern must be %

-

Tonya says, “l looked at 2 columns together and counted 10 tiles. | determined that 60% of them
are gray.” o ‘ ’

Evaluate each student's argument and use ratios to explain why you agréé or disagree' with
each student. <

oo | WA (oA |
ﬁsﬁgm— spout | VAT TigN | S35 15 Vgt |-
e 15 (e | PECduseine | dleoJuatiike |
Rl e | WA Sheta lgnya LA
HvotoRy | ATineities She wL’_\rwcu,efed: a |
Ko Yo whive | B¢ 4 pdmg‘f\ Tectidn insreal
5 oncnalk | p! 30{” nim oFa yeveent,
Wi e paten e grdy o
OERRG cvanges \

Litho#: 667925
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Guide 8 Litho 667925
Total Content Points: 0

Total Practice Points: 1 (MP3)

: : .. 3 :
The student does not demonstrate that the ratio of gray tiles to total tiles is 3 (no credit

for 6.RP.A.3). The student does not show that a multiplicative relationship exists when a pattern
is repeated (no credit for MP7). The student does not verify the percentage stated by Tonya

(no credit for 6.RP.A.3¢c). However, the student provides support for agreement with Sasha and
Tonya, and recognizes that Raymond is correct about the first row but that the pattern changes
(MP3).

Total Awarded Points: 1 out of 4
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A-9a

Raymond Sasha and Tonya are discussing the tile pattern on the back wall of their lunchrcom,
as shown below.

Task 2. Lunchroom Tiles Task
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Raymond says “I Iooked at the first row going across. There are 8 iles altogether and 4 of them _

' :'are gray So 4 out of 8 tiles in the whole pattern must be gray, and that is equal to a ratio of 1

Sasha says “There are 5 tiles in each column gomg up and down and in each column there are |

3 gray tiles. So the ratio of gray tiles to total tiles in the pattern must be %

Tonya says “I looked at 2 columns together and counted 10 tiles. | determined that 60% of them
are gray.” ' ~

=

H
Evaluate each student’s argument and use ratios to explain why you.agree or disagree with
each student. -
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Litho#: 648312
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Guide 9 Litho 648312
Total Content Points: 0
Total Practice Points: 0

The student does not find the correct ratio of gray tiles to total tiles (“So the ratio of all Gray tiles
to White is 24:16”) and therefore does not demonstrate that the ratio of gray tiles to total tiles is

3 (no credit for 6.RP.A.3). The student does not indicate that a multiplicative relationship exists

when a pattern is repeated (no credit for MP7). The student does not verify the percentage stated
by Tonya (no credit for 6.RP.A.3c). The student does not coherently cite evidence or use
calculations to agree or disagree with Sasha, Tonya, and Raymond (no credit for MP3).

Total Awarded Points: 0 out of 4
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AeIOa

5 Raymond Sasha and Tonya are dlscussmg the tlle pattern on the back waII of the:r Iunchroom
as shown below. i . s :

_ Task 2. Lunchroom Tlles Task

_'Raymond says, “l !ooked at the t' rst row gomg across There are 8 t:les altogether and 4 of them"j"'__
-__3;are gray So 4 out of 8 tlles |n the whole pattern must be gray, _and that [s equai to a ratro of % v

-.,:Sasha says “There are 5 tiles |n each column gorng .up and down and m' each column there are 5
"'3 gray trles So the ratio of gray trles to total tiles in the pattem must be g N

:;.Tonya says “I Iooked at 2 columns together and counted 10 tlles I determmed that 60% of them_ 2
'aregray S SO _ : _ : e

'Evaluate each students argument and use ratlos to explaln why you agree or dlsagree W|th
_ each student ' - . _ -
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Litho#: 661213
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Guide 10 Litho 661213
Total Content Points: 0

Total Practice Points: 0

: : .. 3 :
The student does not demonstrate that the ratio of gray tiles to total tiles is 3 (no credit

for 6.RP.A.3). The student does not indicate that a multiplicative relationship exists when a
pattern is repeated (no credit for MP7). The student does not verify the percentage stated by
Tonya (no credit for 6.RP.A.3c). The student does not coherently cite evidence or use
calculations to support agreement with Sasha and Raymond and disagreement with Tonya
(no credit for MP3).

Total Awarded Points: 0 out of 4
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